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1 X
(1) mA

(BAZ: T - %)
K #OE BT O FE | RERCEL] M E 4 at 304z
1| i 19,493,102  52.0 19,493,102  52.0
2 sE 5 B 180,000 0.5 180,000 0.5
M FORZ A & 136,000 0.4 136,000 0.4
418 %5 # x M & 66,000 0.2 66,000 0.2
5 [BRASERENE P 5 51 22 1+ 4 13,000 0.0 13,000 0.0
6 M 7 18 Bl & & 1,128,000 3.0 1,128,000 3.0
7 |E B A5 B AT T 4 113,000 0.3 113,000 0.3
8 [#H 7 K Bl & AT & 62,368 0.2 62,368 0.2
9 K & A B 110,211 0.3 110,211 0.3
10| A2 80 22 A kF SR e 1| A A+ 4 13,000 0.0 13,000 0.0
1117 #H & k VA #H & 854,315 2.3 854,315 2.3
12|16 B & OV F %k 947,760 2.5 947,760 2.5
13 I S R 4,785,740  12.7 4,785,740  12.7
14|%8 X H 4 4,946,520  13.2 4,946,520  13.2
15(fF JiE I A 32,945 0.1 32,945 0.1
16|%F BfF 4 5,908 0.0 5,908 0.0
17 [#k A %o 1,475,265 3.9 1,475,265 3.9
18 [k i %o 1,130,334 3.0 1,130,334 3.0
19(7 I A 150,474 0.4 150,474 0.4
20| & 1,871,800 5.0 1,871,800 5.0
= it 37,515,742| 100.0 37,515,742 100.0




(2) mH (BB

(B2 TH - %)

K #OE BT O FE | RERCEL] M E 4 at 304z
1 i = # 383,750 1.0 383,750 1.0
2 ¥ % # 4,272,077  11.4 4,272,077 11.4
3R 4 # 14,749,314  39.3 1,946 14,751,260  39.3
4 | 4 # 4,605,423 12.3 4,605,423  12.3
5% 18 # 218,729 0.6 218,729 0.6
62 H K FE X & 36,231 0.1 36,231 0.1
7 |pE T # 238,466 0.6 238,466 0.6
8 |t VN # 4,818,863 12.9 4,818,863 12.9
9 |14 ] # 1,552,036 4.1 1,552,036 4.1
10|# ) # 3,649,506 9.7 3,649,506 9.7
11| f& # 2,908,001 7.8 2,908,001 7.8
12| 53 sl 4 53,319 0.1 53,319 0.1
13| 7 i # 30,027 0.1 A 1,946 28,081 0.1
= # 37,515,742| 100.0 0 37,515,742| 100.0

3) mE (EE R
(HAL: TH - %)
X ool #OE AT O BH (MERKEL| MR #E 7t (37429
A 7 H 7,025,563  18.6 7,025,563 18.6
Z’% 7S B # 7,793,918|  20.8 7,793,918| 20.8
o |4 & e 2,908,001 7.8 2,908,001 7.8
# /I &t 17,727,482  47.2 17,727,482  47.2
W (Gx 7 6,484,897 17.3 1,946 6,486,843 17.3
MR oM & % 186,470 0.5 186,470 0.5
i B # & 4,252,589 11.3 4,252,589  11.3
H AV 4 516,288 1.4 516,288 1.4
BEELXOHES-H4 601 0.0 601 0.0
i s & 3,632,740 9.7 3,632,740 9.7
B & M & #H 4,684,648 12.5 4,684,648| 12.5
¥ fifi 7 30,027 0.1 A 1,946 28,081 0.1
= 7 37,515,742| 100.0 0 37,515,742| 100.0




2 BiE

(1) mt
(HLA7: M)
K i IE #E x i E A R G
3 | g 5 1,946 %%%%i%i%%%%ﬁﬁ%@%ﬁi%% | 946
13| 7 fii £ A 1,946
= 7 0




